Section 2.6 Examples

Example 1
a) Find the domain values of the sine function, -2z <x <2z, that have a range \)
]

value of -1. That is, find x such that sin x = -1. #& Uit Cicei= (Mﬁ o
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b) Find the domain values of the cosine function, 27 <x <27z, that have a range

value of -1. That is, find x such that cos x = -1. -
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Example 2: If cos x = 0.5, what is the value of each of the following. * ooy 27, -2
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What can we conclude from the results in example 2?
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Example 3: Simplify each expression using the fundamental identities:
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Example 4: Find each exactly.
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Example b: Evaluate to 4 significant digits
a) sin(-13.72) RaA b) sec 22.33 Rux ¢) c0s(505.3) £«
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Example 6: Evaluate sin x to two significant digits for: fadion Meva
a) x = -3.2 b) x=-32+27 ¢) x=-32-2=x A) % == A ST
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